Week One

(1)Transition, Facebook has over 500 million users to its site. (2) If Facebook were a country this would make it the 3rd largest in the world. (3) Roughly 1 billion pieces of content are shared on Facebook daily: blog posts, web links, news stories, notes, and videos. (4) Startlingly, social networking is an important topic that influences our daily routines and lives. (5) Videos continue to fill internet traffic with YouTube having over 2 hours of video uploaded every second at any place in our lives. (6) Transition, social networking will continue to influence every facet of our lives in years to come. (7) For example, 200 million Facebook users are on mobile devices, allowing them to update and upload anywhere and anytime. 

Monday:

Reorder the sentences in proper order, correct order is below.

Write a new topic and Conclusion sentence
Correct order: (4, 1, 2, 3, 5, 7, 6)
 (4) Startlingly, social networking is an important topic that influences our daily routines and lives. (1)Transition, Facebook has over 500 million users to its site. (2) If Facebook were a country this would make it the 3rd largest in the world. (3) Roughly 1 billion pieces of content are shared on Facebook daily: blog posts, web links, news stories, notes, and videos. (5) Videos continue to fill internet traffic with YouTube having over 2 hours of video uploaded every second at any place in our lives. (7) For example, 200 million Facebook users are on mobile devices, allowing them to update and upload anywhere and anytime. (6) Transition, social networking will continue to influence every facet of our lives in years to come. 

Tuesday:

1) a. However, 

b. In fact, 

c. Unfortunately,
d. Realistically

2) a. NC

b. it’s


c. it is


d. it was

3) a. NC

b. country. This
c. country, this

d. country; this

4) a. NC

b. daily. Blog

c. daily, blog

d. daily; blog

5) a. Evidently,

b. Regretfully,

c. However, 

d. Last, 

Wednesday:

1) How was it said? Choose one strong adverb. What “author tricks” did the author use?

2) What is the author’s tone? Choose one strong adjective

3) What is the author’s intended audience? How do you know?

4) What was the author’s purpose? Start your answer with “To…” then choose a strong verb and justify your response. 

Th1 = The author wants to add the sentence, “Twitter users rose 347% on mobile devices in 2011.” Where does it best fit? Why?

Th2 = The author wants to add the sentence, “Ashton Kutcher and Demi Moore have more Twitter followers than the population of Norway.” Where does it best fit? Why?

Friday:

Write two sentences about social media from a teenager’s perspective. Good? Bad? Useful? Dangerous? Here to stay? Short lived?
One sentence has to have: 

1) A specific, accurate transition

2) Semi-colon used correctly
The other sentence has to be a complex sentence that uses a colon correctly. 
Week 2
Monday 
In the age of wireless technology, public pay phones are becoming (1) obsolete, the coin-operated phones are no longer profitable for telephone companies because today most people own a cellular phone. To compensate for declining pay phone (2) revenues, telephone companies are removing many of (3) there traditional landlines. 

1) a. NO CHANGE 
b. obsolete. The 
c. obsolete, but the 
d. obsolete, so the

2) f. NO CHANGE
g. revenues telephone
h. revenues; telephone
i. revenues: telephone
3) a. NO CHANGE
b. they’re

c. their


d. his or her
Tuesday
It is easy to understand why so many people own cell (1) phones, there convenient and multifunctional. A person (2) who owns a cell (3) phone, can make and receive call, anywhere. Cell phones have (4) voice mail and can store phone numbers and allow the owner access to his or her email. 

1) A. NO CHANGE 
b. phones: they’re
c. phones. Their
d. phones, they’re

2) F. NO CHANGE
g. whom

h. in whichever
i. in which

3) a. NO CHANGE
b. phone, can make and receive calls anywhere

c. phone can be making and receiving calls anywhere

d. phone can make and receive calls anywhere 

4) f. NO CHANGE
g. mail, and cell phones can store phone numbers; they allow the owner to access his or her email.
h. mail, can store phone numbers, and allow the owner to access his or her email.
i. mail (and can store phone numbers and access email) for the owner.

Wednesday

Public pay phones, (1) in other words, are often an inconvenience. Because they are not found in every area, some people are forced to travel (2) a farther distance to make a call. Some phone booths are unsanitary because people use the pay phone with dirty hands or leave trash behind. Pay phones (3) required a caller to have several coins to make a call. A local call costs 50 cents for the first minute, but there are an additional charge for conversations over that limit. 

1) a. NO CHANGE
b. on the other hand,
c. however,
d. OMIT the underlined portion

2) a. NO CHANGE
b. a far distance

c. further
d. more

3) a. NO CHANGE
b. requires

c. have required
d. require

Further/farther explanation:
	
Use farther with physical distance:

Q: Farther? 
A: Six miles. 
Q: Farther? 
A: Nine centimeters. 
Use further with non-physical "distance" (i.e., figurative distance):

Q: Further? 
A: No, I've heard enough. 
Q: Further? 
A: Just around the corner. 




Read more at http://www.grammar-monster.com/easily_confused/further_farther.htm#1rs82dfMoRCqfE8Y.99
Easy way to remember: FAR is a real distance; FURTHER is like an idea in FURTHERmore
Thursday
However,(1) they’re are reasons they’re preferable to modern wireless technology. First of all, cell phones are not always dependable. (2) For example, in 2003, when New York and all northeastern states experienced a widespread blackout, cell phones were largely out of service. In that situation, pay phones were the only option for people who needed to call home. Also, while an estimated six out of ten Americans own a cell phone, there are still plenty who do not. Many people feel the wireless device is an unnecessary indulgence. (3)
1) a. NO CHANGE
b. there
c. it’s


d. usage of cellphones in modern society over the use of pay phones is
2) f. NO CHANGE
g. On the other hand,
h. As a result,

i. Finally, 
13) Which of the following phrases best states the relationship between the first sentence in this Thursday paragraph and the reminder of the Thursday paragraph?

a. Statement and supporting evidence

b. Argument and digression
c. Point and counterpoint
d. Explanation and instruction

Friday

According to the Federal Communications Commission, the total number of pay phones nationwide has decreased roughly 50 percent since 1997. Some restaurants and college campuses are maintaining old booths as private areas where people can have a conversation on their cell phones without disturbing the people nearby. Recently, some companies have sold the boxy structures as collector’s items, signaling that pay phones (2) have become a thing of the past. Let’s hope that this is not the case; while pay phones, (3) which were first installed by inventor William Gray in 1889, cannot compare to the benefits of modern wireless technology, they still serve (4) a important role and function in our society. (5) (6)

1) When was this ACT practice passage written? Pick a specific year and justify your response. 

2) a. NO CHANGE

b. have come to
c. came to be

d. became
3) f. NO CHANGE

g. which inventor William Gray installed in 1889
h. invented and installed in 1889 by William Gray
i. OMIT the underlined portion
4) a. NO CHANGE

b. an important function
c. an important functioning role
d. a functioning role
5) Suppose the editor of a newspaper had assigned the writer to describe the evolution of the telephone. Does the passage successfully fulfill the assignment?
a. Yes, because the passage explains how pay phones are being replaced by cell phones
b. Yes, because the passage explains why pay phones will always serve an important function in society.
c. No, because the passage explains how pay phones are becoming obsolete.
d. No, because the passage does not explain how pay phones have changed.
6) Readers are likely to regard the passage as best described by which of the following terms?

a. Cynical
b. Inspirational
c. Alarming

d. Informative
Week Three:
[1]


Christopher Chataway, an employee at Arthur

Guinness, Son [image: image1.png]and Co. recommended
3



 that Beaver

contact Norris and Ross McWhirter, twin sons of a

newspaperman. The [image: image2.png]McWhirters'
T



 loved facts and 

trivia so much that they compiled their own lists.

They often found discrepancies in their research and

aimed to develop their own agency to provide

accurate data. 18 In 1951 the McWhirter twins

actually did start their own business, supplying 

figures and facts to newspapers, encyclopedias, and

[image: image3.png]they even contributed to yearhooks.
—




Monday
16) a. NO CHANGE
b. and Co, recommended
c. and Co., recommended
d. and Co.; recommended

17) a. NO CHANGE

b.McWhirters

c. McWhirter’s

d. McWhirter twins’

18) Does the information about the discrepancies in existing research fit logically into this paragraph?

a. Yes, because it provides a reason for the twins’ involvement with the Guinness Book.
b. Yes, because the twins share Sir Hugh’s dedication to accuracy.
c. No, because the essay is about Sir Hugh Beaver, n the McWhirters.
d. No, because this concerns previous sources, not the Guinness Book.

[2]


When Sir Hugh returned to London, he

continued to puzzle over the matter. [image: image4.png]They're



 simply

was no concise source listing [image: image5.png]certain data such as the
£y




[image: image6.png]biggest, fastest, smallest, etc.
—_—



 Beaver thought that

there must be numerous other questions debated

nightly in British [image: image7.png]pubs, so
——



 there was no book with

which to settle arguments about such records. He

realized then that a book supplying the answers to

such questions [image: image8.png]might sell well
—




Wednesday
22) a. NO CHANGE

b. pubs so
c. pubs; however,
d. pubs; but

23) a. NO CHANGE

b. might sell good.
c. might be a well seller.
d. might be selling good.

Tuesday
19) a. NO CHANGE

b. they had even contributed to yearbooks.
c. yearbooks.
d. contributed to yearbooks

20) a. NO CHANGE

b. Their
c. There
d. They are

21) a. NO CHANGE

b. certain data such as the record-holders for the biggest, fastest, smallest, etc.
c. certain data

d. data on existing record-holders.

[3]


In May 1951, Sir Hugh Beaver, the managing

director of the Guinness Brewery, went on a hunting

trip in Ireland. He [image: image9.png]shoots at
ey



 some golden plover (a

type of game bird) but missed. Beaver began to

wonder if the plover might be one of the fastest

birds in Europe. [image: image10.png]Finding it impossible to confirm his
—_—




[image: image11.png]suspicions,
—



 since there was no reference book on the

subject.




[4]


With the collaboration of Sir Hugh and the

McWhirters, the Guinness World Records was

created. [image: image12.png]Published August 27, 1955,
—



 the first volume

was 198 pages and became the number one bestseller

in England. More than 50 years later,

[image: image13.png]the bookis still
57



 popular, although certain records are

no longer tracked because they prompt people to 

endanger themselves or others. Guinness World
Records has since gone through several owners, the

latest of which is the Jim Pattison Group, the parent

company of Ripley Entertainment, Inc. [image: image14.png]Robert





[image: image15.png]Ripley was a cartoonist who created the popular
—_—




[image: image16.png]Ripley's Beligve It or Not| newspaperseries.
e —



 29 30

Friday

28) a. NO CHANGE

b. Robert Ripley being a cartoonist who crated the popular Ripley’s Believe It or Not! Newspaper series.
c. Robert Ripley, a cartoonist who created the popular Ripley’s Believe It or Not! Newspaper series.

d. OMIT the underlined portion.

29) Suppose the writer had been given the assignment of writing a review for the latest edition of The Guinness World Records book. Does this essay fulfill the assignment?

a. Yes, because it tells the inspiration behind the development of the book.
Thursday
24) a. NO CHANGE

b. shot at
c. had shot
d. shot

25) a. NO CHANGE

b. It was impossible to confirm his suspicions

c. Having found it impossible to confirm his suspicions,

26) What should the author do with the underlined phrase so that there is no ambiguity in the sentence?

a. Leave it where it is.

b. Put it after the word bestseller.
c. Put it after the word England. 

d. OMIT the phrase entirely

27) a. NO CHANGE

b. the book are still
c. the books is still
d. the book has been still


Week Four

Overlooking the Atlantic Ocean, [image: image17.png]visitors can see
3T





[image: image18.png]Breakers Mansion,
—



 often called simply “The Breakers,”

is the largest and most elaborate of Newport’s [image: image19.png]Gilded





[image: image20.png]Age Summer "cottages"
—



 and a lasting symbol of social

and financial preeminence in late 19th century

America.




[2]


In 1893 wealthy industrialist Cornelius

Vanderbilt II hired architect Richard Morris Hunt

[image: image21.png]to make
=



 the lavish, seventy-room Breakers Mansion

in Newport, Rhode Island. The Vanderbilt family

amassed its vast fortune through [image: image22.png]the ownership of
—




steamships and railroads. The Breakers Mansion was

named for the waves crashing onto the rocks below the 

thirteen-acre estate. The existing mansion was built to

replace the original Breakers, [image: image23.png]which was
53



 destroyed by

fire after the Vanderbilts purchased the property. 36



[3]


[image: image24.png]With its huge, massive
—



 Corinthian columns, the

solid-stone Breakers Mansion resembles a 16th

century [image: image25.png]Renaissance-style Italy
—



 seaside palace. The

Breakers also incorporates Beaux Arts and Victorian

elements, including gilt cornices, rare marble, painted

ceilings, [image: image26.png]and there are promment chimneys.
—_——



 Architect

Hunt also gave Breakers Mansion grand spaces for

entertaining. The mansion has [image: image27.png]a45-foot-high
——



 central

Great Hall, arcades, many levels, and a covered central

courtyard. The rooms--decorated in French and

Italian [image: image28.png]styles, was
——



 designed and dismantled in Europe,

shipped to the United States, and [image: image29.png]the pieces put back
——




[image: image30.png]together
5




 in the house.




[4]


Today, Breakers Mansion is a National Historic

Landmark owned by the Preservation Society of

Newport County, Rhode Island’s largest cultural

organization, which preserves and protects the best of

Newport County’s architectural heritage. In keeping

with [image: image31.png]their
o



 mission, the Society strives to offer its

members and the public a comprehensive view of the 

property’s architecture, interior, landscape and social

history. 44 45

Monday                                                                                                                                                                31.a. NO CHANGE  b. visitors to Breakers mansion. C. Breakers Mansion d. visitors saw Breakers Mansion                                                                                                                                             32. NO 32. a. NOCHANGE b. gilded age summer cottages c. Gilded Age Summer Cottages d. Gilded Age summer “cottage”Tuesday                                                                                                                                                         33. NO CHANGE b. to build c. to design d. to construct                                                                   34.NO CHANGE  b. the owning of c. having owned d. being owners of                                            35.NO CHANGE b. which were c. which would had been d. which would have been Wednesday 
37. NO CHANGE b. with its hugely massive c. With its huge and massive d. with its massive                 38. NO CHANGE b. Renaissance style –Italian c. Renaissance-style from Italy d. Renaissance-style, Italy 39. a. NO CHANGE b. and there were prominent chimneys, c. and also prominent chimneys d. and prominent chimneys                                                                                                                                              Thursday
40. a. NO CHANGE b. a 45-feet-high c. 45 foot-high d. 45 feet-high                                                         41. a. NO CHANGE b. styles, were c. styles-was d. styles-were                                                                           42. NO CHANGE b. reassembled c. put back together d. the pieces were put back together                                                                                                                                                                                                    Friday 
43.  NO CHANGE .b. its c. it’s d. their                                                                                                               44. Is the information in paragraph 4 relevant to the essay?                                                                                            a. yes, because it encourages the preservation of valuable historic properties such as The Breakers. B. yes, because it completes the history of The Breakers. C. No, because it adds no details about the interior of The Breakers. D. No, because the essay is not about the mission of the Preservation Society of Newport County.                                                                                                                                                                   45. Who would most likely be interested in reading this article?                                                                               A.  a high school student who wants to choose a college that offers a course in architecture. B. a millionare looking to buy a home in Newport. C.   A tourist who wants to find points of interest in Newport. D. a group of citizens who wants to have a historic building classified as a national landmark  Week Five
Week Six(1) It has been 175 years since 1837, when Michigan and Ohio signed a truce after a brief skirmish over the hotly argued property of the Toledo Strip. (2) The saying “Holy Toledo!” was originated because of high number of churches within the city. (3) Ohio might have gotten the fair city of Toledo, but in exchange Michigan got the riches of the Upper Peninsula -- a much better deal today. (4) With the matter of territory cleared up, President Andrew Jackson signed Michigan into statehood on Jan. 26, 1837, making the mitten the 26th state in the union. (5) After the “Urban Flight” in the mid 20th century, many of Michigan’s cities have struggled because of the rise of suburbs, but the cities are finding new and creative resources to create viability in major cities. (6) Since the state’s inception, Michiganders from Motown crooners to union strikers have worked to make their home great. (7) Today, Michigan is most commonly known for Detroit and its nickname, “The Motor City.” 
Tuesday: Reorder the sentences and delete one. 

Wednesday: 
Write a new topic sentence. 
Write a new, logical sentence between 4 and 5
Tuesday answer: 1, 3, 4, 6, 5, 7
Monday
1) What word best relates to the highlighted word

a) argue

b) fight

c) peace
d) tickle

2) a) NC

b) Toledo but
c) Toledo; but
Toledo. But

3) a) NC
b) Peninsula, a much
c) Peninsula; a much
d) Peninsula: a much

4) a) NC
b) century many
c) century; many
d) century and many

(1) The Super Bowl is the end of a season that begins in the late summer of the previous calendar year and the championship game of the National Football League (NFL). (2) If the consuming of food on Super Bowl Sunday is one of the largest of the year, commercial airtime during the Super Bowl would be the most expensive of the year because of the 100,000,000 viewers on average. (3) Due to the high cost of investing in advertising on the Super Bowl, companies regularly make their most expensive advertisements for this broadcast. (4) The day that the Super Bowl is played has become the NFLs American Holiday, called “Super Bowl Sunday.” (5) Its the second largest day for U.S. food eating, behind Thanksgiving. (6) As a result, watching and talking about the broadcast commercials has become a big aspect of the event. 

Thursday:
1) a) NC
b) year, and

c) year. The

d) year; and

2) a) NC
b) year commercial
c) year; commerical
d) year. Commercial

3) a) NC
b) companie’s

c) companys

d) companies’

4) a) NC
b) NFL’s

c) NFLs’

d) nfl’s

5) a) NC
b) It has

c) It’s


d) Super Bowl Sunday

Friday:
Change the diction of all words in green

What is the best logical order of sentences? Write a sentence why after

a) NC

b) 1, 2, 4, 3, 5, 6
c) 1, 3, 5, 2, 4, 6

d) 1, 4, 5, 2, 3, 6

Week Eight:

(1) A significant skill, necessary to develop while in High School, are critical thinking. (2) Critical thinking often appears to be a somewhat simple skill for students above age 15-16, however, it is something that most adults struggle with. (3) Living in a world of spin, critical thinking is very important so that it allows people to see beyond advertisers and politicians desires to sway. (4) People automatically believe the stories they see from news sources because those are the ones that are apparent to them. (5) These news items can even be something as simple as human interest stories. (6) Novels are a reliable source of critical thinking, most novels require analysis.  (7) When students graduate into the real world without these critical thinking skills, it leaves many dangers and pitfalls for them to be hit with in the adult world.   
Monday:  Choose the correct answer. Write a sentence why that is the proper grammatical choice.

1) a) NC

b) is



c) delete “are”

d) was

2) a) NC

b) 16 however,


c) 16; however,

d) 16 and however,

3) a) NC




b) advertiser’s and politician’s

    c) advertisers and politicians’

d) advertisers’ and politicians’

4) a) NC

b) skills it


c) skills, and it

d) skills and
Th1: Write a topic sentence for a counter argument to this paragraph. Be sure to include proper transitions.

TH2: a) thinking; most b) thinking. Most c) thinking, many d) NO CHANGE

Friday:

Write a paragraph about social media from a teenager’s perspective. Good? Bad? Useful? Dangerous? Here to stay? Short lived?

3) Two specific, accurate transitions

4) Use semi-colon correctly

5) Use a plural possessive correctly with multiple owners: “Aric and Miracle’s house” or “Aric’s and Miracle’s vehicles”

6) Have one compound sentence = sentence, conjunction sentence

Tue:  List the function of each underlined portion. Why was each part said? 

Tue: Choose stronger diction for very and automatically.
Wed: Choose one sentence to delete. Why? Write a new topic sentence.

Week 9

(1) Putt Putt golf can be a hard, yet enjoyable pastime. (2) Putt putt is a good sport for a fun-family night or a fun and flirty date. (3) It takes some skill, but anyone is able to play it. (4) It does need some mental strength, but its very hard to take yourself seriously with pirates lurking, waterfalls crashing, and clowns to distract from perfect form. (5) It is a less intense form of real golf. (6) Many putt putt facilities have a theme to carry throughout its course. (7) One of the most famous and enjoyable courses is Pirates Cove. (8)A lot of cities around the country have a Pirate’s Cove with different features, some courses have animatronics pirates while others have live alligators.  
Wednesday:

Write a new/replacement/logical topic sentence that is a compound sentence.

Write a new/replacement/logical concluding sentence that is a complex sentence.
Friday:

Insert a logical transition at sentence 3 and 6

Write a new topic sentence with a transition that would begin a proceeding (not PREceding) paragraph about Frisbee Golf

Tuesday:

a) NC

b) features. Some
c) features; some
d) features while

Change the diction of the word underlined
Monday:

a) NC

b) skill but

c) skill and

d) skill with

a) NC

b) isn’t


c) it’s


d) stuff is

a) NC

b) distracted

c) distraction

d) distracting

Week #12
I grew up on the East Coast, just a Friday nights drive from the Atlantic shore. Ocean City, Bethany Beach, Assateague Island-the very names conjure sunlit scenes, the crash of breakers, the cry of gulls. Childhood vacations meant all that, plus overheated cars in standstill traffic waiting to cross the Chesapeake Bay Bridge to and from what Marylanders call the Eastern Shore. 


Yet I never thought of myself as a beach person: I don’t swim, I sunburned more easily, and I hated noisy crowds. But perhaps I was a beach person after all, as I discovered at those times of day when the sun wasn’t harsh, and in those places where people were scarce and the only sounds were the primal rhythms of sea and wind.

M1: a) NO CHANGE b) Friday’s nights’ c) Friday nights’ d) Friday night’s e) Friday’s night’s
M2: f) NO CHANGE g) person; h) people: j) person,

M3: a) NO CHANGE b) easier, c) easily, d) easiest, 

Then I moved to the fertile, landlocked Midwest. Soon, I began to long over real waves, not just the waving tassels atop endless fields of corn. Lacking plane fare to either coast, I drove five hours to one of the Great Lakes-Lake Michigan. There, I’d heard, one could find beautiful beaches and a grand expanse of water extending to the horizon. 

T1: What is the correct punctuation of Shakespeare’s best work if it is typed? a) Hamlet b) Hamlet c) “Hamlet” d) Hamlet e) Hamlet f) “Hamlet” g) Hamlet
T2: f) NO CHANGE g) for h) upon j) of

T3: Which of the following alternatives to the underlined portion would be the LEAST acceptable? F) reaching G) sweeping H) stretching J) increasing 
T4: Which choice would best conclude this sentence so that it illustrates a contrast between the narrator’s Midwest experiences and the memories of ocean beaches on the East Coast? A) NO CHANGE B) those ten-foot breakers caused by the storms far out in the Atlantic. C) not the gigantic waves off Australia’s coast. D) like the ones I remember from our first vacation. 

But when I walked the beach in the early hours of morning daybreak, I could sense that I was not really at the ocean. Its mainly the smell [W1] that was missing. My eyes scanned the water and searched in vain for a flash of a dolphin.

[1] But when I walked the beach in the early hours of morning daybreak, I could sense that I was not really at the ocean. [2] Its mainly the smell [W1] that was missing. [3] My eyes scanned the water, and searching in vain for a flash of a dolphin. [4] I looked around m on the beach: no sideways-scurrying crabs, no sand sharks with mouths that open like steel traps, no clumps of seaweed or piles of jellyfish heaved on the beach, no spiraled conch shells. [5] The lake is indeed magnificent, with lovely views and even, on windy days, waves. [6] But my senses cannot be fooled. [7] I still miss the ocean. F1
W1: f) NO CHANGE G) at the hours when the sun is rising, H) at daybreak, J) in the morning’s break of day,

W2: a) NO CHANGE b) It was mainly c) Its primarily d) It’s primarily

W3: At this point the writer is considering adding the following: that wonderfully heavy, 

-fishy briny smell- Should the writer make this addition here? f) Yes, because it suggests that the narrator’s childhood vacations on the Eastern Shore left lasting impressions g) Yes, because it adds a touch of humor, which lessens the intensity of the narrator’s longing to relive the past h) no, because it creates a digression that leads the essay away from its primary focus j) No, because it introduces a jump in thought, which makes it difficult to identify with the narrator’s actual experience as a beach person. 
TH1: a) NO CHANGE b) when c) since d) OMIT the underlined portion

TH2: Which of the following alternatives to the underlined portion would be the LEAST acceptable? F) defrauded. G) tricked. H) deceived. J) masked.

F1: For the sake of logic and coherence of this paragraph, Sentence 7 should be placed: a) where it is now b) after sentence 1 c) after sentence 3 d) after sentence 5

F2: This questions is about the entire “Beach” passage: Suppose the writer had been assigned by the editor of a travel journal to write an essay describing popular vacation spots on the East Coast. Would this essay successfully fulfill the assignment?

a) Yes, because the essay describes various beach sites along the Eastern shore.

b) Yes, because the essay focuses on the narrator’s childhood vacations in Maryland

c) No, because the essay instead focuses on the differences between ocean and lake beaches.

d) No, because the essay focuses on taking a vacation to the Midwest. 
Week 11

Monday: Write a third person, compound sentence using strong diction that explains what Mr. Foster did. Have a partner label the subject and predicate of the sentence. 

Tuesday: Change the verb tense from the Monday sentence, add two strong adjectives and rewrite the sentence.

Wednesday: Add a transitional phrase to the Tuesday sentence, add two strong adverbs and rewrite the sentence.

Thursday: Add a possessive S to the Wednesday sentence, make it a complex sentence and rewrite the sentence. to the sentence. 
Friday: Add an appositive to the Thursday sentence, make it a first person sentence and rewrite the sentence. 
